County of El Dorado, State of California Community Development Services Department of Transportation

CONTRACT No. 4076, CIP No. 76108

SILVER SPRINGS PARKWAY OFFSITE (SOUTH SEGMENT)

THIS AGREEMENT ("Agreement") approved by the Board of Supervisors this 4th day of August, in the year of 2020, made and concluded, in duplicate, between the COUNTY OF EL DORADO, a political subdivision of the State of California, by the Community Development Services, Department of Transportation thereof, the party of the first part hereinafter called "County," and GRANITE CONSTRUCTION COMPANY party of the second part hereinafter called "Contractor."

RECITALS:

WHEREAS, County has caused the above-captioned project to be let to formal bidding process; and

WHEREAS, Contractor has duly submitted a bid response for the captioned project upon which County has awarded this Contract;

NOW, THEREFORE, the parties hereto have mutually covenanted and agreed, and by these presents do covenant and agree, each with the other, as follows:

Article 1. THE WORK

The improvement contemplated in the performance of this Contract is an improvement over which the County shall exercise general supervision. The County, therefore, shall have the right to assume full and direct control over this Contract whenever the County, at its sole discretion, shall determine that its responsibility is so required.

Contractor shall complete the Work as specified or indicated under the Bid Schedule(s) of County's Contract Documents entitled:

SILVER SPRINGS PARKWAY TO BASS LAKE ROAD (SOUTH SEGMENT)

The Project is located in County of El Dorado (insert location description from NTB). The Work to be done is shown on the Plans, described in the Special Provisions and generally consists of, but is not limited to:

Construction of a new intersection, roadway, concrete medians, concrete sidewalks, concrete curb and gutters, storm drain systems, rock-lined ditches, retaining wall, asphalt paving, signage and striping, fencing, temporary and permanent erosion control measures, adjusting utility covers to grade, clearing and grubbing, and tree removals. Other items or details not mentioned above, that are required by the plans, Standard Plans, Standard Specifications, or these Special Provisions must be performed, constructed or installed.

Article 2. CONTRACT DOCUMENTS

The Contract Documents consist of: the Notice to Bidders; the bid forms which include the accepted Proposal, Bid Price Schedule and Total Bid, Subcontractor List, Section 10285.1 Statement, Section 10162 Questionnaire, Section 10232 Statement, Noncollusion Affidavit, Iran Contracting Act Certification, the Contract which includes this Agreement with all Exhibits thereto, including the, the Performance Bond, and

Payment Bond, the drawings listed and identified as the Project Plans; the Special Provisions which incorporate by reference the State of California Department of Transportation (Caltrans) Standard Plans 2015, and Standard Specifications 2015, Revised Standard Specifications, and standard drawings from the Design and Improvement Standards Manual of the County of El Dorado, revised March 8, 1994 including Resolution 199-91 and Resolution 58-94 to adopt changes to the Design and Improvement Standards Manual; all Addenda incorporated in those documents before their execution, and all Contract Change Orders issued in accordance with the Contract Documents which may be delivered or issued after the Effective Date of this Agreement and are not attached hereto; the prevailing Labor Surcharge And Equipment Rental Rates (when required) as determined by the Caltrans to be in effect on the date the Work is accomplished; all the obligations of County and of Contractor which are fully set forth and described therein; and all Contract Documents which are hereby specifically referred to and by such reference made a part hereof. All Contract Documents are intended to cooperate so that any Work called for in one and not mentioned in the other is to be executed the same as if mentioned in all Contract Documents. Contractor agrees to perform all of its promises, covenants, and conditions set forth in the Contract Documents, and to abide by and perform all terms and conditions set forth therein. In case of conflict between this Agreement and any other Contract Document, this Agreement shall take precedence.

Article 3. COVENANTS AND CONTRACT PRICE

County hereby promises and agrees with said Contractor to employ, and does hereby employ, said Contractor to provide the material and to do the Work according to the terms and conditions of the Contract Documents herein contained and referred to, for the prices hereinafter set forth, and hereby contracts to pay the same at the time, in the manner and upon the conditions herein set forth; and the said parties for themselves, their heirs, executors, administrators, successors and assigns, do hereby agree to the full performance of the covenants herein contained. County shall pay Contractor for the completion of the Work in accordance with the Contract Documents in current funds the Contract Prices named in Contractor's Bid and Bid Price Schedule, a copy of which is attached hereto as Exhibit A.

Article 4. COMMENCEMENT AND COMPLETION

The Work to be performed under this Contract shall commence on the date specified in the Notice to Proceed issued by County, and the Work shall be fully completed within the time specified in the Notice to Proceed pursuant to Section 8 of the Special Provisions.

County and Contractor recognize that time is of the essence of the Agreement and that County will suffer financial loss if the Work is not completed within the time specified in the Notice to Bidders annexed hereto, plus any extensions thereof allowed in accordance with Section 8 of the Standard Specifications and Special Provisions. They also recognize the delays, expense, and difficulties involved with proving in a legal proceeding the actual loss suffered by County if the Work is not completed on time. Accordingly, instead of requiring any such proof, County and Contractor agree that as liquidated damages for delay (but not as a penalty) Contractor shall pay County the sum of \$6,800, as liquidated damages and not as a penalty, for each and every calendar day's delay in finishing the Work in excess of the Contract time prescribed herein.

Article 5. INDEMNITY

To the fullest extent allowed by law, Contractor shall defend, indemnify, and hold County, its (their) officers, directors, and employees, and the State of California (State), its officers, directors, agents (excluding agents who are design professionals), any property owners from whom the County obtained easements, and any Federal government agencies associated with this Contract harmless against and from any and all claims, suits, losses, damages, and liability for damages, including attorney's fees and other costs of defense brought for or on account of injuries to or death of any person, including but not limited to, workers and the public, or on account of injuries to or death of County, State, any property owners from whom the County obtained easements, or Federal government agency employees, or damage to property, or any economic, consequential or special damages which are claimed or which shall in any way arise out of or be connected with Contractor's services, operations or performance hereunder, regardless of the existence or degree of fault or negligence on the part of the County, the State of California, or any Federal government agencies, any property owners from whom the County has obtained easements, the Contractor,

subcontractors or employees of any of these, except for the active, or sole negligence of the County, the State of California or any Federal government agencies their officers and employees, or any property owners from whom the County has obtained easements, or where expressly prescribed by statute.

The duty to indemnify and hold harmless the County, the State, any property owners from whom the County obtained easements, and any Federal government agencies associated with this Contract specifically includes the duties to defend set forth in Section 2778 of the Civil Code. The insurance obligations of Contractor are separate, independent obligations under the Contract Documents, and the provisions of this defense and indemnity are not intended to modify nor should they be construed as modifying or in any way limiting the insurance obligations set forth in the Contract Documents.

Article 6. VENUE

Any litigation arising out of this Contract shall be brought in El Dorado County and governed by California law.

Article 7. NOTIFICATION OF SURETY COMPANY

The surety company shall familiarize itself with all of the conditions and provisions of this Contract, and shall waive the right of special notification of any change or modifications of this Contract or extension of time, or of decreased or increased work, or of the cancellation of the Contract, or of any other act or acts by County or its authorized agents, under the terms of this Contract; and failure to so notify the aforesaid surety company of changes shall in no way relieve the surety company of its obligation under this Contract.

Article 8. ASSIGNMENT OF ANTITRUST ACTIONS

In entering into a public works Contract or a Subcontract to supply goods, services, or materials pursuant to a public works Contract, the Contractor offers and agrees and will require all of its subcontractors and suppliers to agree to assign to the awarding body all rights, title, and interest in and to all causes of action it may have under Section 4 of the Clayton Act (15 U.S.C. Sec. 15) or under the Cartwright Act (Chapter 2 (commencing with Section 16700) of Part 2 of Division 7 of the Business and Professions Code), arising from purchases of goods, services, or materials pursuant to the public works Contract or the subcontract. This assignment shall be made and become effective at the time the awarding body tenders final payment to Contractor, without further acknowledgment by the parties.

If an awarding body or public purchasing body receives, either through judgment or settlement, a monetary recovery for a cause of action assigned under Government Code Sections 4550-4554, the assignor shall be entitled to receive reimbursement for actual legal costs incurred and may, upon demand, recover from the public body any portion of the recovery, including treble damages, attributable to overcharges that were paid by the assignor but were not paid by the public body as part of the bid price, less the expenses incurred in obtaining that portion of the recovery. Upon demand in writing by the assignor, the assignee shall, within one year from such demand, reassign the cause of action assigned under Government Code Sections 4550-4554 if the assignor has been or may have been injured by the violation of law for which the cause of action arose and (a) the assignee has not been injured thereby, or (b) the assignee declines to file a court action for the cause of action.

Article 9. TERMINATION BY COUNTY FOR CONVENIENCE

County reserves the right to terminate the Contract at any time upon determination by County's representative that termination of the Contract is in the best interest of County. County shall issue Contractor a written notice specifying that the Contract is to be terminated.

Upon receipt of said written notice, Contractor shall stop all Work under the Contract except: (1) Work specifically directed to be completed prior to termination, (2) Work the Inspector deems necessary to secure the project for termination, (3) removal of equipment and plant from the site of the Work, (4) action that is necessary to protect materials from damage, (5) disposal of materials not yet used in the Work as directed by County, and (6) clean-up of the site.

If the Contract is terminated for County's convenience as provided herein, all finished or unfinished Work and materials previously paid for shall, at the option of County, become its property. Contractor shall be paid an amount which reflects costs incurred for Work provided to the date of notification of termination. In addition, Contractor shall be paid the reasonable cost, as solely judged by County, and without profit, for all Work performed to secure the project for termination.

Article 10. TERMINATION BY COUNTY FOR CAUSE

If Contractor is adjudged as bankrupt or insolvent, or makes a general assignment for the benefit of its creditors or if a trustee or receiver is appointed for Contractor or for any of its property, or if Contractor files a petition to take advantage of any debtor's act, or to reorganize under the bankruptcy or applicable laws, or on more than one occasion fails to supply sufficient skilled workmen or suitable material or equipment, or on more than one occasion fails to make prompt payments to subcontractors for labor, materials, or equipment, or disregards the authority of the County's representative, or the Engineer, if one is appointed, or otherwise violates any provision of the Contract Documents, then County may, without prejudice to any other right or remedy and after giving Contractor and its Surety a minimum of ten (10) days from delivery of a written termination notice, terminate the services of Contractor and take equipment and machinery thereon owned by Contractor and finish the Work by whatever method County may deem expedient. In such case, Contractor shall not be entitled to receive any further payment until the Work is finished.

Without prejudice to other rights or remedies County may have, if Contractor fails to begin delivery of materials and equipment, to commence Work within the time specified, to maintain the rate of delivery of material, to execute the Work in the manner and at such locations as specified, or fails to maintain a Work program which will ensure County's interest, or, if Contractor is not carrying out the intent of the Contract, an Inspector's written notice may be served upon Contractor and the Surety on its faithful performance bond demanding satisfactory compliance with the Contract. If Contractor or its Surety does not comply with such notice within five (5) days after receiving it, or after starting to comply, fails to continue, County may exclude it from the premises and take possession of all material and equipment, and complete the Work by County's own forces, by letting the unfinished Work to another Contractor, or by a combination of such methods.

Where Contractor's services have been so terminated by County, said termination shall not affect any right of County against Contractor then existing or which may thereafter accrue. Any retention or payment of monies by County due Contractor will not release Contractor from compliance with the Contract Documents.

If the unpaid balance of the Contract price exceeds the direct and indirect costs of completing the Work, including compensation for additional professional services, such excess shall be paid to Contractor. If the sums under the Contract are insufficient for completion, Contractor or Surety shall pay to County within five (5) days after the completion, all costs in excess of the Contract price. In any event, the cost of completing the Work shall be charged against Contractor and its Surety and may be deducted from any money due or becoming due from County.

The provisions of this Article shall be in addition to all other rights and remedies available to County under law.

If after notice of termination, it is determined for any reason that Contractor was not in default, the rights and obligations of the parties shall be the same as if the notice of termination had not been issued. The Contract shall be equitably adjusted to compensate for such termination.

Article 11. SUCCESSORS AND ASSIGNS

This Agreement shall bind and inure to the heirs, devisees, assignees, and successors in interest of Contractor and to the successors in interest of County in the same manner as if such parties had been expressly named herein.

REPORTING ACCIDENTS Article 12.

Contractor shall prepare and submit (within 24 hours of such incidents) reports of accidents at the site and anywhere else the Work is in progress in which bodily injury is sustained or property loss in excess of Five Hundred Dollars (\$500.00) occurs.

EMISSIONS REDUCTION Article 13.

Contractor shall comply with emission reduction regulations mandated by the California Air Resources Board, and sign a certification of knowledge thereof:

CERTIFICATE OF KNOWLEDGE - EMISSIONS REDUCTION REGULATIONS

I am aware of the emissions reduction regulations being mandated by the California Air Resources Board. I will comply with such regulations and require my sub-contractors to comply with such regulations before commencing the performance of the Work, maintain compliances throughout the duration of this Contract, and provide County a Certificate of Reported Compliance for each company with road legal diesel vehicles over 14,000 pound gross vehicle weight.

Signed: _	Harle	Date	08/10/2020	
olgiled	Kenneth B. Olson, Vice			

Article 14. WORKERS' COMPENSATION CERTIFICATION

al mi

1

Contractor shall comply with Labor Code Sections 3700 et seq., requiring it to obtain Worker CERTIFICATE OF KNOWLEDGE - LABOR CODE SECTION 3700 Compensation Insurance, and sign a certificate of knowledge thereof.

I am aware of the provisions of Section 3700 of the Labor Code, which require every employer to be insured against liability for workers' compensation or to undertake self-insurance in accordince with the provisions of that Code, and I will comply with such provisions before commencing the parameter of Work of this Contract.

Signed:	perelle	Date	08/10/2020	
	Kenneth B. Olson, V	ice President		

Article 15. WARRANTY

Contractor warrants to County that materials and equipment furnished for the Work will be of good quality and new, unless otherwise required or permitted under the Contract Documents, that the Work will be free from defects or flaws and is of the highest quality of workmanship and that the Work will conform with the requirements herein. Work not conforming to these requirements, including substitutions not properly approved and authorized, shall be considered defective.

Article 16. **RETAINAGE**

The retainage from payment is set forth in Section 9-1.16F(1) of the Special Provisions. Contractor may elect to receive one hundred percent (100%) of payments due as set forth in the Contract Documents, without retention, by depositing securities of equivalent value with County, in accordance with, and as set forth in Section 22300 of the Public Contract Code. Securities eligible for deposit hereunder shall be limited to those listed in Section 16430 of the Government Code, or bank or savings and loan certificates of deposit.

Article 17. DISADVANTAGED BUSINESS ENTERPRISE (DBE) PROGRAM

RESERVED

Article 18. PREVAILING WAGE REQUIREMENTS

In accordance with the provisions of California Labor Code Sections 1770 et seq., including but not limited to Sections 1773, 1773.1, 1773.2, 1773.6, and 1773.7, the general prevailing rate of wages in the county in which the Work is to be done has been determined by the Director of the California Department of Industrial Relations. Interested parties can obtain the current wage information by submitting their requests to the Department of Industrial Relations, Division of Labor Statistics and Research, PO Box 420603, San Francisco CA 94142-0603, Telephone (415) 703-4708 or by referring to the website at http://www.dir.ca.gov/ OPRL/PWD. The rates at the time of the bid advertisement date of a project will remain in effect for the life of the project in accordance with the California Code of Regulations, as modified and effective January 27, 1997.

Copies of the general prevailing rate of wages in the county in which the Work is to be done are also on file at the Community Development Services, Department of Transportation's principal office, and are available upon request.

In accordance with the provisions of Labor Code 1810, eight (8) hours of labor constitutes a legal day's work upon all work done hereunder, and Contractor and any Subcontractor employed under this Contract must conform to and be bound by the provisions of Labor Code Sections 1810 through 1815.

Article 19. NONDISCRIMINATION

- In connection with its performance under this Contract. Contractor shall comply with all applicable A. nondiscrimination statutes and regulations during the performance of this Contract including, but not limited to the following: Contractor, its employees, subcontractors and representatives shall not unlawfully discriminate against any employee or applicant for employment because of race, color, sex, sexual orientation, religion, ancestry or national origin, physical disability, medical condition, marital status, political affiliation, family and medical care leave, pregnancy leave or disability leave. Contractor will take affirmative action to ensure that employees are treated during employment. without regard to their race, color, sex, sexual orientation, religion, ancestry or national origin, physical disability, medical condition, marital status, political affiliation, family and medical care leave, pregnancy leave or disability leave. Such action shall include, but not be limited to, the following: employment, upgrading, demotion or transfer: recruitment or recruitment advertising: layoff or termination; rates of pay or other forms of compensation; and selection for training, including apprenticeship. Contractor shall post in conspicuous places, available to employees for employment, notices to be provided by State setting forth the provisions of this Fair Employment section. Contractor shall, unless exempt, comply with the applicable provisions of the Fair Employment and Housing Act (Government Code, Sections 12900 et seq.) and applicable regulations promulgated thereunder (California Code of Regulations, Title 2, Sections 7285.0 et seq.); the applicable regulations of the Fair Employment and Housing Commission implementing Government Code, Section 12990, set forth in Chapter 5 of Division 4 of Title 2 of the California Code of Regulations incorporated into this Agreement by reference and made a part hereof as if set forth in full; and Title VI of the Civil Rights Act of 1964, as amended. Contractor, its employees. subcontractors and representatives shall give written notice of their obligations under this clause as required by law.
- B. Where applicable, Contractor shall include these nondiscrimination and compliance provisions in any of its subcontracts that affect or are related to the Work performed herein.
- C. RESERVED
- D. Contractor's signature executing this Contract shall provide any certifications necessary under the Federal laws and the laws of the State of California, including but not limited to Government Code Section 12990 and Title 2, California Code of Regulations, Section 8103.

Article 20. CONTRACTOR ASSURANCES

By executing this Contract, Contractor certifies that it:

- a. Will abide by all administrative, contractual or legal remedies in instances where Contractor violates or breaches Contract terms, and will comply with sanctions and penalties as the Contract Administrator deems appropriate.
- b. Will comply with the termination for cause and termination for convenience provisions of the Contract including the manner by which such termination may be effected and the basis for settlement afforded by those provisions.
- c. Will comply with Executive Order 11246 of September 24, 1965, entitled "Equal Employment Opportunity," as amended by Executive Order 13672 of July 21, 2014, and as supplemented in Department of Labor regulations (41 CFR Chapter 60).
- d. Will comply with County, State of California and FHWA requirements and regulations pertaining to:
 (a) reporting; (b) patent rights with respect to any discovery or invention which arises or is developed in the course of or under this Contract; and (c) copyrights and rights in data.
- e. Will comply with mandatory standards and policies relating to energy efficiency, which are contained in the state energy conservation plan issued in compliance with the Energy Policy and Conservation Act (Pub. : 94-163, 89 Stat. 871).
- f. Will comply with: (i) Section 504 of the Rehabilitation Act of 1973 (Rehabilitation Act) which prohibits discrimination on the basis of disability in Federally assisted programs; (ii) the Americans with Disabilities Act (ADA) of 1990 which prohibits discrimination on the basis of disability irrespective of funding; and (iii) all applicable regulations and guidelines issued pursuant to both the Rehabilitation Act and the ADA.
- g. Will comply with the Department of Industrial Relations pursuant to Labor Code sections 1725.5 and 1771.1.

Any Subcontract entered into as a result of this Contract shall contain all of the provisions of this Article.

Article 21. BUSINESS LICENSE

The County Business License Ordinance provides that it is unlawful for any person to furnish supplies or services, or transact any kind of business in the unincorporated territory of County of El Dorado without possessing a County business license unless exempt under County Ordinance Code Section 5.08.070. Contractor warrants and represents that it shall comply with all of the requirements of the County Business License Ordinance, where applicable, prior to beginning Work under this Contract and at all times during the term of this Contract.

Article 22. TAXES

Contractor certifies that as of today's date, it is not in default on any unsecured property taxes or other taxes or fees owed by Contractor to County. Contractor agrees that it shall not default on any obligations to County during the term of this Agreement.

Article 23. CONTRACT ADMINISTRATOR

The County Officer or employee with responsibility for administering this Agreement is John Kahling, Deputy Director Engineering, Headington Unit, Community Development Services, Department of Transportation, or successor.

Article 24. AUTHORIZED SIGNATURES

The parties hereto represent that the undersigned individuals executing this Agreement on behalf of their respective parties are fully authorized to do so by law or other appropriate instrument and to bind upon said parties the obligations set forth herein.

Article 25. PARTIAL INVALIDITY

If any provision of this Agreement is held by a court of competent jurisdiction to be invalid, void or unenforceable, the remaining provisions will continue in full force and effect without being impaired or invalidated in any way.

Article 26. NO THIRD PARTY BENEFICIARIES

Nothing in this Agreement is intended, nor will be deemed, to confer rights or remedies upon any person or legal entity not a party to this Agreement.

Article 27. COUNTERPARTS

This Agreement may be executed in one or more counterparts, each of which shall be an original and all of which together shall constitute one and the same instrument.

Article 28. ENTIRE AGREEMENT

This document and the documents referred to herein or exhibits hereto are the entire Agreement between the parties and they incorporate or supersede all prior written or oral agreements or understandings.

IN WITNESS WHEREOF, the said Community Development Services, Department of Transportation of the County of El Dorado, State of California, has caused this Agreement to be executed by County's Board of Supervisors, on its behalf, and the said Contractor has signed this Agreement the day and year written below.

Dated: 8 4 2020	OF EL DORADO Bik Veerkang
	Chair, Board of Supervisors
Board Date: August 4, 2020	Attest:
	Clerk of the Board of Supervisors
Dated: 8 4 2020	Tabetha Smith
Board Date: August 4, 2020	Deputy Clerk
Granite Construction Company	
	NTRACTOR
Dated: 08/10/2020 89 Licens	94-0519552 se No. Federal Employee Identification Number
By: Incles	WINTE COM
President Kenneth B. Olson, Vice Preside	nt Service Co. Co.
By: See Attached Certificate of Secretary Corporate Secretary	* ORANGE STATE OF THE PARTY OF
with the signature of the officer or officers auth Contractor is a co-partnership, the true name of to of the partner or partners authorized to sign Contant an individual, his/her signature shall be placed a corporation or partnership shall be prepared to appropriately authorized to act in these regards. be demonstrated to the satisfaction of County	name of the corporation shall be set forth above together norized to sign Contracts of pehalf of the corporation; if he firm shall be set forth above together with the signature tracts on behalf of the co-partnership; and if Contractor is bove. Contractor executing this document on behalf of a demonstrate by resolution, article, or otherwise that it is For such corporation or partnership, such authority shall of the signature is by an agent, other than officer of a propriate Power of Attorney shall be on file with the County
Mailing Address: 4001 Bradshaw Rd	
Business Address: Sacramento, CA 95827	
Email Address:	
Phone: (916) 855-4447	Fax:

Silver Springs Parkway Offsite (South Segment)
Contract No. 4076, CIP No 76108
August 4, 2020

GRANITE CONSTRUCTION COMPANY

CERTIFICATE OF SECRETARY

I, M. Craig Hall, Secretary of GRANITE CONSTRUCTION COMPANY, a California corporation (the "Company"), do hereby certify that the following is a true and correct copy of resolutions duly adopted on February 7, 2020 by a Unanimous Written Consent of the Board of Directors in accordance with the provisions of Article III, Section 9 of the Bylaws of the Company; that the Directors acting were duly and regularly elected; and that the resolutions adopted have not been repealed and are still in full force and effect:

AUTHORIZATION TO EXECUTE DOCUMENTS AND AGREEMENTS

RESOLVED, that the below listed officers are authorized to execute and deliver on behalf of the Company all documents, agreements and undertakings required in connection with construction contract formation and operations of the Company:

James H. Roberts	President & Chief Executive Officer
Kyle T. Larkin	Executive Vice President, Chief Operating Officer & Assistant Secretary
Jigisha Desai	Senior Vice President, Chief Financial Officer & Assistant Secretary
Carlos F. Alegre	Senior Vice President of Operations Services & Assistant Secretary
Philip M. DeCocco	Senior Vice President of Human Resources & Assistant Secretary
M. Craig Hall	Senior Vice President, General Counsel, Corporate Compliance Officer &
	Secretary
James A. Radich	Senior Vice President, Group Manager & Assistant Secretary
Richard M. Rantala	Senior Vice President, Business Development & Assistant Secretary
James D. Richards	Senior Vice President, Group Manager & Assistant Secretary
Michael G. Tatusko	Senior Vice President, Group Manager & Assistant Secretary
Mathew C. Tyler	Senior Vice President, Federal Group Operations & Assistant Secretary
Robert C. VanGorder	Senior Vice President, Group Manager & Assistant Secretary
Michael W. Barker	Vice President, Controller, Assistant Financial Officer & Assistant
	Secretary
James D. Nickerson	Vice President & Assistant Secretary
Kenneth B. Olson	Vice President, Treasurer, Assistant Financial Officer & Assistant
	Secretary

RESOLVED FURTHER, that the authority provided for herein shall be in accordance with applicable policies, procedures and limits of authority previously approved and the Granite Construction Incorporated Delegation of Authority and Policy then in effect.

Nicholas B. Blackburn Director of Corporate Taxation & Assistant Secretary

AUTHORIZATION TO ATTEST DOCUMENTS AND AGREEMENTS

RESOLVED, that the below listed officers are authorized to attest documents, agreements and undertakings required in connection with construction contract formation and operations of the Company:

James H. Roberts	President & Chief Executive Officer
Kyle T. Larkin	Executive Vice President, Chief Operating Officer & Assistant Secretary
Jigisha Desai	Senior Vice President, Chief Financial Officer & Assistant Secretary
Carlos F. Alegre	Senior Vice President of Operations Services & Assistant Secretary
Philip M. DeCocco	Senior Vice President of Human Resources & Assistant Secretary
M. Craig Hall	Senior Vice President, General Counsel, Corporate Compliance Officer &
	Secretary
Kyle T. Larkin	Senior Vice President, Manager of Construction and Materials Operations
	& Assistant Secretary
James A. Radich	Senior Vice President, Group Manager & Assistant Secretary
Richard M. Rantala	Senior Vice President, Business Development & Assistant Secretary
James D. Richards	Senior Vice President, Group Manager & Assistant Secretary
Michael G. Tatusko	Senior Vice President, Group Manager & Assistant Secretary
Mathew C. Tyler	Senior Vice President, Federal Group Operations & Assistant Secretary
Robert C. VanGorder	Senior Vice President, Group Manager & Assistant Secretary
Michael W. Barker	Vice President, Controller, Assistant Financial Officer & Assistant
	Secretary
James D. Nickerson	Vice President & Assistant Secretary
Kenneth B. Olson	Vice President, Treasurer, Assistant Financial Officer & Assistant
	Secretary
Nicholas B. Blackbur	n Director of Corporate Taxation & Assistant Secretary
Kenneth M. Smith	Group Counsel & Assistant Secretary
Jason M. Jasper	Group Counsel & Assistant Secretary
Eric J. Rietz	Group Counsel & Assistant Secretary

Dated: February 11, 2020

M. Craig Hall

EXHIBIT A

CONTRACTOR'S BID AND BID PRICE SCHEDULE SILVER SPRINGS PARKWAY TO BASS LAKE ROAD (SOUTH SEGMENT) CONTRACT NO. 4076, CIP NO. 76108

Line Item	Item Code	Item Description	Unit of Measure	Quantity	Unit Price	Unit Total
1	072007A	TRENCH AND EXCAVATION SAFETY	LS	1	\$2,000.00	\$2,000.00
2	80050	PROGRESS SCHEDULE (CRITICAL PATH METHOD)	LS	1	\$500.00	\$500.00
3	100100	DEVELOP WATER SUPPLY	LS	1	\$25,000.00	\$25,000.00
_4	120090	CONSTRUCTION AREA SIGNS	LS	1	\$8,800.00	\$8,800.00
_ 5	120100	TRAFFIC CONTROL SYSTEM	LS	1	\$25,000.00	\$25,000.00
6	120149	TEMPORARY PAVEMENT MARKING (PAINT)	SQFT	363	\$2.00	\$726.00
7	120159	TEMPORARY TRAFFIC STRIPE (PAINT)	LF	10,588	\$0.25	\$2,647.00
8	120120	TYPE III BARRICADE	EA	3	\$125.00	\$375.00
9	120165A	SURFACE MOUNTED TUBULAR MARKER CHANNELIZER	EA	24	\$25.00	\$600.00
10	120300	TEMPORARY PAVEMENT MARKER	EA	215	\$3.50	\$752.50
11	128652	PORTABLE CHANGEABLE MESSAGE SIGN (LS)	LS	1	\$25,000.00	\$25,000.00
12	129000	TEMPORARY RAILING (TYPE K)	LF	1,200	\$45.00	\$54,000.00
13	129110	TEMPORARY CRASH CUSHION MODULE (ABSORB 350)	EA	4	\$3,500.00	\$14,000.00
14	130100	JOB SITE MANAGEMENT	LS	1	\$100,000.00	\$100,000.00
15	130300	PREPARE STORM WATER POLLUTION PREVENTION PLAN	LS	1	\$1,800.00	\$1,800.00
16	130310	RAIN EVEN ACTION PLAN	EA	5	\$165.00	\$825.00
17	130320	STORM WATER SAMPLING AND ANALYSIS DAY	EA	_ 1	\$265.00	\$265.00
18	130330	STORM WATER ANNUAL REPORT	EA	1	\$500.00	\$500.00
19	130620	TEMPORARY DRAINAGE INLET PROTECTION	EA	24	\$151.71	\$3,641.04
20	130640	TEMPORARY FIBER ROLL	LF	6,301	\$2.54	\$16,004. <u>5</u> 4
21	130680	TEMPORARY SILT FENCE	LF	2,762	\$2.35	\$6,490.70
22	130710	TEMPORARY CONSTRUCTION ENTRANCE	EA	2	\$6,500.00	\$13,000.00
23	149001A	PREPARE ASBESTOS DUST MITIGATION PLAN	LS	1	\$500.00	\$500.00
24	140003	ASBESTOS COMPLIANCE PLAN	LS	1	\$500.00	\$500.00
25	150010A	RELOCATE GATE & BRICK COLUMNS (115-030-04)	LS	1	\$45,000.00	\$45,000.00
26	150010B	RELOCATE GATE, OPENER & COLUMNS (115-030-03)	LS	1	\$47,000.00	\$47,000.00
27	170103	CLEARING AND GRUBBING	LS	1	\$25,000.00	\$25,000.00
28	170103A	REMOVE TREE	EA	197	\$295.05	\$58,124.85

Silver Springs Parkway Offsite (South Segment)
Contract No. 4076, CIP No 76108
August 4, 2020

County of El Dorado

Agreement

C-10Rev

Line Item	Item Code	Item Description	Unit of Measure	Quantity	Unit Price	Unit Total
29	198010	IMPORTED BORROW	CY	28,300	\$15.00	\$424,500.00
30	190101	ROADWAY EXCAVATION (F)	CY	3,200	\$100.00	\$320,000.00
31	190101A	POND OVER EXCAVATION & REMOVAL	CY	1,300	\$22.00	\$28,600.00
32	202026A	RELOCATE 4" WATER-MAIN BLOWOFF	EA	1	\$7,500.00	\$7,500.00
33	202028A	RELOCATE IRRIGATION FACILITIES AND MAINTAIN LANDSCAPING	LS	1	\$6,000.00	\$6,000.00
34	204000A	PLANT OLEANDERS, 5 GAL	EA	50	\$80.00	\$4,000.00
35	204000B	BIORETENTION BASIN PLANTING	SF	2,160	\$11.30	\$24,408.00
36	204096A	LANDSCAPE RECONSTRUCTION	SF	2,065	\$5.25	\$10,841.25
37	208598	2" PLASTIC PIPE (SCH 40) (IRRIG SUPPLY LINE)	LF	152	\$7.00	\$1,064.00
38	208690A	4" PVC IRRIGATION & UTILITY SLEEVE, SCHEDULE 80	LF	416	\$25.00	\$10,400.00
39	208690B	8" PVC JOINT TRENCH SLEEVE	LF	140	\$65.00	\$9,100.00
40	210270A	EC NETTING AND HYDROSEED (TYPE B)	SQFT	9,100	\$0.86	\$7,826.00
41	210280A	EC BLANKET & HYDROSEED (TYPE B)	SQFT	46,228	\$0.56	\$25,887.68
42	210430A	EROSION CONTORL MULCH AND HYDROSEED	Sq Ft	42,447	\$0.12	\$5,093.64
43	260203	CLASS 2 AGGREGATE BASE	CY	6,135	\$75.00	\$460,125.00
44	390132	HOT MIX ASPHALT (TYPE A)	TON	3,912	\$100.00	\$391,200.00
45	390136A	MINOR HOT MIX ASPHALT (HMA DITCH)	TON	8	\$382.00	\$3,056.00
46	394073	PLACE HOT MIX ASPHALT DIKE (TYPE A)	LF	209	\$10.00	\$2,090.00
4 7	394076	PLACE HOT MIX ASPHALT DIKE (TYPE E)	LF	638	\$10.00	\$6,380.00
48	398200	COLD PLANE ASPHALT CONCRETE PAVEMENT	Sq Ft	1,500	\$8.00	\$12,000.00
49	475000	RETAINING WALL STEM (TYPE 6)	SQFT	583	\$120.00	\$69,960.00
50	510502A	MINOR CONCRETE - RETAINING WALL FOOTING	CY	30	\$615.00	\$18,450.00
51	510502B	MINOR CONCRETE - INLET STRUCTURE & TRASH RACK	EA	2	\$9,300.00	\$18,600.00
52	510502C	HEADWALL, INLET APRON & TRASH RACK (STA 11+93.7)	EA	1	\$40,000.00	\$40,000.00
53	510502D	MINOR CONCRETE SIDEWALK CURB DRAIN	EA	1	\$900.00	\$900.00
54	510502E	MINOR CONCRETE - PIPE CAP	SF	1,094	\$40.00	\$43,760.00
55	641101	12" PLASTIC PIPE	LF	30	\$70.00	\$2,100.00
56	641104	15" PLASTIC PIPE	LF	50	\$80.00	\$4,000.00
57	641107	18" PLASTIC PIPE	LF	1,087	\$80.00	\$86,960.00
58	641113	24" PLASTIC PIPE	LF	249	\$95.00	\$23,655.00
59	641125	36" PLASTIC PIPE	LF	234	\$160.00	\$37,440.00
_60	641128	42" PLASTIC PIPE	LF	970	\$160.00	\$155,200.00
61	641131	48" PLASTIC PIPE	LF	357	\$230.00	\$82,110.00
62	685000A	6" PERF. PLASTIC PIPE UNDERDRAIN & TRENCH	LF	749	\$30.00	\$22,470.00

Silver Springs Parkway Offsite (South Segment)

Contract No. 4076, CIP No 76108 August 4, 2020 County of El Dorado
Agreement
C-11Rev

Line	ne Item Unit of Out the Unit Diagram					
Item	Code	Item Description	Measure	Quantity	Unit Price	Unit Total
63	707117A	INLET - CALTRANS TYPE OCP	EA	4	\$4,000.00	\$16,000.00
64	707117B	INLET - CALTRANS TYPE GCP	EA	2	\$3,500.00	\$7,000.00
65	707117C	INLET - CALTRANS TYPE GO	EA	9	\$6,000.00	\$54,000.00
66	707225	48" PRECAST CONCRETE PIPE MANHOLE	EA	1	\$9,500.00	\$9,500.00
67	707233	60" PRECAST CONCRETE PIPE MANHOLE	EA	5	\$10,500.00	\$52,500.00
68	707233A	60" SADDLE MANHOLE	EA	3	\$13,500.00	\$40,500.00
69	705007	12" FLARED END SECTION (FES)	EA	1	\$500.00	\$500.00
70	705009	15" FLARED END SECTION (FES)	EA	2	\$500.00	\$1,000.00
71	702010	OUTLET ACCESS CONTROL GRATE	EA	1	\$2,000.00	\$2,000.00
72	710132	REMOVE CULVERT (LF)	LF	168	\$20.00	\$3,360.00
73	710122A	REMOVE DRAINAGE FACILITIES (149+50) INLET, PIPE & MANHOLE	LS	1	\$3,500.00	\$3,500.00
74	710220	ADJUST EID VALVE/BLOW-OFF BOX TO GRADE	EA	3	\$1,000.00	\$3,000.00
75	710210	ADJUST SEWER MANHOLE TO GRADE (EID SEWER)	EA	2	\$3,500.00	\$7,000.00
76	721017A	ROCK INLET/OUTLET PROTECTION (RSP BACKING NO. 1, METHOD B)	CY	16	\$140.00	\$2,240.00
77	721019A	ROCK SLOPE PROTECTION (NO. 3, METHOD B)(ROCK LINED CHANNEL)(F)	CY	100	\$110.00	\$11,000.00
78	721028	ROCK SLOPE PROTECTION NO. 2, METHOD B)(F)	CY	371	\$90.00	\$33,390.00
79	730010	MINOR CONCRETE (CURB)	CY	66	\$635.00	\$41,910.00
80	731502A	MINOR CONCRETE (MISCELLANEOUS CONSTRUCTION - PCC DITCH)	CY	24	\$1,050.00	\$25,200.00
81	731504	MINOR CONCRETE (CURB AND GUTTER)	CY	222	\$430.00	\$95,460.00
82	731530A	MINOR CONCRETE (TEXTURED PAVING)	CY	19	\$1,050.00	\$19,950.00
83	731627	MINOR CONCRETE (CURB, SIDEWALK AND CURB RAMP)	CY	241	\$650.00	\$156,650.00
84	780010A	DRIVEWAY CONDUITS	LS	1	\$2,000.00	\$2,000.00
85	782120A	RELOCATE MAILBOX (ACCESSORIES)	EA	3	\$250.00	\$750.00
86	800051	FENCE (TYPE WM, METAL POST)	LF	2,301	\$40.00	\$92,040.00
87	800100A	TEMPORARY FENCE (TYPE ESA)	EA	2,319	\$2.25	\$5,217.75
88	800103	TEMPORARY FENCE (TYPE CL-6, CONTINGENT ITEM)	LF	100	\$25.00	\$2,500.00
89	803020	REMOVE FENCE	LF	3,185	\$3.50	\$11,147.50
90	803170A	RELOCATE TUBULAR STEEL FENCE	LF	430	\$50.00	\$21,500.00
91	810120	REMOVE PAVEMENT MARKER	EA	141	\$2.00	\$282.00
92	810230	PAVEMENT MARKER (RETROREFLECTIVE)	EA	351	\$3.00	\$1,053.00
93	820112	MARKER (CULVERT)	EA	4	\$49.00	\$196.00
94	820141	OBJECT MARKER (TYPE K-1)	EA	5	\$49.00	\$245.00

Silver Springs Parkway Offsite (South Segment)
Contract No. 4076, CIP No 76108
August 4, 2020

County of El Dorado **Agreement** C-12Rev

Line Item	Item Code	Item Description	Unit of Measure	Quantity	Unit Price	Unit Total
95	820250	REMOVE ROADSIDE SIGN	EA	19	\$50.00	\$950.00
96	820510	RESET ROADSIDE SIGN (ONE POST)	EA	2	\$250.00	\$500.00
97	820840	ROADSIDE SIGN - ONE POST	EA	25	\$350.00	\$8,750.00
98	832016	MIDWEST GUARDRAIL SYSTEM (7' POST)	LF	87	\$65.00	\$5,655.00
99	839521	CABLE RAILING	LF	146	\$44.00	\$6,424.00
100	839584A	MIDWEST GUARDRAIL IN-LINE TERMINAL SYSTEM	EA	2	\$4,200.00	\$8,400.00
101	839750A	REMOVE BARRICADE	EA	3	\$100.00	\$300.00
102	840505	6" THERMOPLASTIC TRAFFIC STRIPE	LF	7,565	\$1.00	\$7,565.00
103	840506	8" THERMOPLASTIC TRAFFIC STRIPE	LF	948	\$1.50	\$1,422.00
104	840507	6" THERMOPLASTIC TRAFFIC STRIPE (BROKEN 8-4)	LF	268	\$1.00	\$268.00
105	840508	8" THERMOPLASTIC TRAFFIC STRIPE (BROKEN 12-3)	LF	606	\$1.50	\$909.00
106	840519	THERMOPLASTIC CROSSWALK AND PAVEMENT MARKING	SQFT	1,160	\$6.00	\$6,960.00
107	840530	6" THERMOPLASTIC TRAFFIC STRIPE (BROKEN 17-7)	LF	100	\$1.00	\$100.00
108	846020	REMOVE PAINTED TRAFFIC STRIPE	LF	11,178	\$0.40	\$4,471.20
109	846020A	REMOVE TRAFFIC STRIPES	LF	62	\$0.50	\$31.00
110	846025	REMOVE PAINTED PAVEMENT MARKING	SQFT	2,486	\$1.50	\$3,729.00
111	930010A	BIORETENTION BASIN OUTFALL, MEDIA AND SUBDRAIN SYSTEM	LS	1	\$40,000.00	\$40,000.00
112	999990	MOBILIZATION	LS	1	\$184,000.00	\$184,000.00
				TOTAL:		\$3,846,753.65

⁽F) Final Pay Quantity(P) Eligible for Partial Payment(LS) Lump Sum

FXHIRIT B

FAIR EMPLOYMENT PRACTICES ADDENDUM

- 1. In the performance of this Agreement, Contractor will not discriminate against any employee for employment because of race, color, sex, sexual orientation, religion, ancestry or national origin, physical disability, medical condition, marital status, political affiliation, family and medical care leave, pregnancy leave or disability leave. Contractor will take affirmative action to ensure that employees are treated during employment, without regard to their race, color, sex, sexual orientation, religion, ancestry or national origin, physical disability, medical condition, marital status, political affiliation, family and medical care leave, pregnancy leave or disability leave. Such action shall include, but not be limited to, the following: employment, upgrading, demotion or transfer; recruitment or recruitment advertising; layoff or termination; rates of pay or other forms of compensation; and selection for training, including apprenticeship. Contractor shall post in conspicuous places, available to employees for employment, notices to be provided by State setting forth the provisions of this Fair Employment section.
- 2. Contractor and all Subcontractors shall comply with the provisions of the Fair Employment and Housing Act (Government Code Section 1290-0 et seq.), and the applicable regulations promulgated thereunder (California Code of Regulations, Title 2, Section 7285.0 et seq.). The applicable regulations of the Fair Employment and Housing Commission implementing Government Code, Section 12900(a-f), set forth in Chapter 5 of Division 4 of Title 2 of the California Code of Regulations are incorporated into this Agreement by reference and made a part hereof as if set forth in full. Each of Contractor's contractors and all Subcontractors shall give written notice of their obligations under this clause to labor organizations with which they have a collective bargaining or other agreements, as appropriate.
- 3. Contractor shall include the nondiscrimination and compliance provisions of this clause in all contracts and subcontracts to perform Work under this Agreement.
- 4. Contractor will permit access to the records of employment, employment advertisements, application forms and other pertinent data and records by County, State, the State Fair Employment and Housing Commission or any other agency of the State of California designated by State, for the purposes of investigation to ascertain compliance with the Fair Employment section of this Agreement.
- 5. Remedies for Willful Violation:
 - (a) County may determine a willful violation of the Fair Employment provision to have occurred upon receipt of a final judgment to that effect from a court in an action to which Contractor was a party, or upon receipt of a written notice from the Fair Employment and Housing Commission that it has investigated and determined that Contractor has violated the Fair Employment Practices Act and had issued an order under Labor Code Section 1426 which has become final or has obtained an injunction under Labor Code Section 1429.
 - (b) For willful violation of this Fair Employment provision, County shall have the right to terminate this Agreement either in whole or in part, and any loss or damage sustained by County in securing the goods or services thereunder shall be borne and paid for by Contractor and by the surety under the performance bond, if any, and County may deduct from any moneys due or thereafter may become due to Contractor, the difference between the price named in the Agreement and the actual cost thereof to County to cure Contractor's breach of this Agreement.